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RRB ALP & TECHNICIANS 2018
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

O 57 weeT A 1 wEr S« wfafer oo

Problem figure:

3

Answer figures:

C D
Problem Figure - 927 =%

Answer Figures - 3coX 3epfadn
Choose the correct water image of the problem figure.

Problem figure:

=

Answer figures:

d 4 7 R

B C D




X3 C
< 4B

Q2 e 5HIEdr 2018 FT WHAR & o 8 3T 2019 F Fi= T & gm?
5t February 2018 is a Monday. 8t April 2019 will be a:

Ans Tﬁ'ﬂ'
X1

Wednesday
| .
Tuesday

. A
Monday

e fEECIg
Sunday

X 2

v &

Q3 i Hr ampia TAg i arhr wnpfaat & Aa ad

1 2 3
Select the figure which does NOT belo

1 2 3
Ans ( 1.3
x22
X4
X1
Q.4 e Tarrell o7 =@ T 4,200 # ST 1T 7| SHAT He 8% ooy 1 &3 & - g 21

T T STE SHH T Tl 21

An electric bulb was bought at ¥ 4200 .Its value depreciates at the rate of 8% per annum
.Its value after one year will be:

Ans X' 1. T 3,684
< 2. 3,800
V'3 73,864
X4 T3746

Q.5 =T #F amifoT g Te2 2017 wioAFar fFg sdT Afsa 7 AT &2
‘Which Indian model won the Miss World 2017 contest held in China?




| ST 3TRIS

<
Zoya Afroz
2 AT AT
Novyonika Chatterjee
7> A fBeer
Manushi Chhillar
X a4 4T HE
Alia Bhatt

Q.6 e fgadi frhe & dia Qe ua® oI aTel AT fRehey FiA §7
Who is the only cricketer to score three double centuries in One-Day Cricket?

Ans m
XL =

Virendra Sehwag
x 2 Fehr diféer
Ricky Ponting
X fre e
Chris Gayle
v T o=
Rohit Sharma

7 HH ¥ HiT T TF JHAF GEde 2 ?
Which of the following is a chemical change?

Ans v HerEeT T WeT glam
1.
Butter turning rancid

x 5, €02 ¥ gt %5 T
Making dry ice from GOy

| T ToifesdH g &1 77 g
Heating a platinum wire

4 g T TEhIAHIOT

Magnetisation of iron

x




A & o st & P B de e 12

J2N

Select the option that represents the number of triangles in the given figure.

JZN

Ans Xl-ﬁ
< 210
<37
VN

Q9 g F Sfvwdr F Bw 3=9aw e
‘What is the highest percentage slab for

Ans X1 20%
< 2.329%

< 3.25%

W 2 28%

Q.10 T EIATeH Ui &1 1000 F Sige! T TTo JeT $HT H
ST TEAT | 10.06 30 71 STeH ol #1a HIare|

A positive integer, which when added to 1000, gives a sum which i
when it is multiplied by 100. This positive integer is:

Ans ?{'1_1
7
<33
X 45

Q.11 37eyTeait # AR R T agd &g (shell) 7 EREraC Rkl
Non-metals generally contain electrons in their outermost shell.
Ans 1,273
1

1,20r3
5,6, 7ATS
2'5,5,?or3
8,93T 10
) 8,9 0r 10
X4_1013r13
10to 18




Q.12 v v xR fwedt # @ A & 71wy w1 Fw F 9w aren wEr wfafaw

e |
Problem Figure
X i)
=)
Answer Figures
- e -] e
X 7] X | X a) (X 8
A B c D

From the given four answer figures choose the correct water image of the problem figure.

Problem Figure
X )
=]
Answer Figures
- -] L] ]
X 7| X X al |x 8

Ans XlA
x2B
XaD
vaC

Q-13qmm1£rﬁma:rmﬁ?@rﬂmﬁa:
What is the radius of an atom used to meas
Ans ElmfﬁEIEF h
r. e
Atomic mumber

UIATUTS geTATH

Atomic mass

X 2

Q.14 AfF 10kg S=TA H1 el 87 o 20N & AT ST g, df cator fhetell
grem?

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans X 1.100m/sec?
< 2. 200m/sec?
& 3. 5m/sec?
v 4 2m/sec?

O fFT FT T &:
The formula of Power is:
Ans T
x1 HII/HAT
momenturmy/time




| displacement/time

Q.16 ™% Fxg &I 10 TEHAET &I Biehel FaTs Aol T 3ol o § 20 AR H
Zh o @ S ¥ | sEe afafde e g e

An object is placed at a distance of 20 cm from a convex lens of focal length 10 cm. The
image is formed at a distance of:

Ans 5
x 115 AT

15 cm
Xz.sﬁﬁ‘#ﬁu
5cm
20 TEHRT
20 cm

10 HardreT

10 cm

v

X a4

QL7 o U erecl & S13 # & WART Yea-TeH &I T4 B

TehiTer © 3T 9T
Select the word pair that is analogous to the given word pair.
Sankranti : Andhra Pradesh

Ans v HIUTH : e

Onam : Kerala

ST . 9T

| Bhangra : Punjab

3 froaw : freem
Christmas : Christians

| UF  FooR geA
Kathak : Uttar Pradesh

52

~x

Q18 14 35 3T 56 FT o.H. fohaar 87

The LCM of 14, 35 and 56 is:
Ans o 1. 280
< 2.140
<3210
< 4. 560




Q.19 Rl & S AfEse fFg AT Scng & AEAEe o aaars M o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

Ans -
F N gl

Q.20 =fy TegHifaras # Faiaenar 3 3N sifewie &7 2 &, o voggiiferan Fiwmgs &1
mﬁlﬂ;ﬂ\?%

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Ans - X 1. (AlO)3,;
< 2. AlO,
X 3. A0,
v 4 AL 0,

Q.21 & #x wf gufy &1 & 3 v g 7=t &
FT TS &

Sree and Kavi are a couple. Siri and Samyu are sist
Siri related to Sree?

Ans Xlwmr@tﬁrfﬁm

Uncle
> 2 ﬂ]é’
Brother
xa T Fga/ AR 98
Cousin
v Teig/ sl /@l STl SERTer

Sister-in-law

Q.22 wigagyug 5x% — 7x + 2 % e a I B &, Tl 3eTh sk 1 AT T GlaN?

If « & B are the zeros of the polynomial 5x? — 7x + 2 then the sum of their reciprocals
182

Ans x 1.

Bl =1 Wbk WA ~1 r3|EA

Q.23




forafaf@a & & e i sas # FINVET FT & g2
In which of the following permanent tissues are the cells dead?

p 0

Parenchyma

RIoIARTSHT

| Collenchymas

TFeAFRISAT

| Sclerenchyma

TIAFISHAT

Aerenchyma

X2

V3

p !

Q24 Fwur # 35T T[T F gL FRud @ g

Testes are located outside the abdominal cavity in the:

Ans HARRMA
X"
Urinary bladder

T
Q.25 aE OIET & BIET AT AT ittt fFEH 72 1 0T F{e T T 07 T3 I @il & |
The smallest number by which 72 must be multiplied to obtain a perfect square 1s:

Ans xl_ 4
X2 6
K.. w
W2

Q.26 T AT 9T Fr 3T 15 e T Fear &, 6y o gear € st 20
oIHIeT Iear 81 5% a1 98 A’ Hsar g A 30 Rreey amr war
T #, T afeer gEar § AR 40 Rroiwier woer #1 ame fig i Atoe &
& Feae e g &

A man travels 15 km towards east, then turns right and travels 20 km. He then turns left
and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Ans 2150 km
¥ 2 75km
< 3.100 km
# 480 km

Q.27 [

Question ID : 9864493624




T @ ool A wEdt ¥ Bl ¥ 3E v i i gir 80 Hrex § iy
mﬂrﬁzo:ﬁuqﬁrﬂﬁhmmmaﬁw—aﬁéﬁqﬁaﬂﬁm
HERTF AT g

If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is
20 m/s, then the time required by the crests to reach the boat is .

Ans X1.0_5@fﬁ
055
Xz_sﬂérsr
5%

x5 02 T3
0.2s

Q28 _ 70 + 28 + (7-3) =?
70 +28 + (7-3) =2
Ans Xl__ 9
<2 -69

X 3-105
- 63

Q.29 s Y& H WA + 63 3iF Wt U Afd
e fhaer 3w Fr oA

In a test Paran secured 63 marks that was also equival
many marks was the test out of?

ans X180
X265
V75
X85

—= =
Q.30 A 3R B v% FF # 40 G F U H THa €. B 3 C 3¢ 30 m F qm
R ThT §, FEh C T A 3 B P 24 BT F q@ W T €1 A, B H#R

C Yl 3T 36T S8 H H fcer G & G H ThT 87

A and B can complete a task in 40 days, B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

- x 1 48, 96 3R 32
48, 96 and 32

, 32, 48 3K 96
32, 48 and 96

_ 60, 120 3R 40

60, 120 and 40

40, 120 3T 60

40, 120 and 60

x

v

X a




Q31 vEry fATeFT &1 AROT-FRNET e FiT g7
Which Indian American is the CEO of Adobe Systems?

Ans xl_ﬁ?iﬁm%;qg

Francisco D’Souza
vz Ace] AT
Shantanu Narayen
e ot
Sundar Pichai

) VAT FAT ST

X 3.

X
Sanjay Kumar Jha

Q.32 FAEqTer s{eit I =t & ST FRT F FreTH & 7T et i Ferar war A g

Reproducing new plants by cells instead of vegetative parts or seeds is called:

Ans & ey
v °
tissue culture

g fAsToT
2.9
regeneration
IELCEL)
X 3 EIE‘
multiple fission

< g frms=
binary fission

x

Q33




T 7T gFder W FER H 3 97 & & & 1% A=ga & § s o
fafea & @)

aFaed:
T o &t AT §, A AT AT gaE QU AGT HU, o A T
# 3 T Al 7 & amer

o

AT

1. segarEe 8T i T g w1 T Al g
2. fRers g gl & e & A o A E, A O A T W
A& T B
_Con]:-;iid_er the given statement true and decide which of the given assumptions is (are)
implicit.

Statement:
A teacher tells a student, “if you don’t finish your homework, you will not be allowed into
the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not punctual in his work.

Ans " dol AT 1 [Afga g

Only assumption I is implicit.

1 3R 2 et fAfed & £

Neither assumption I nor II 1s implicit.

| &ae A= 2 fAfed gl
Only assumption II is implieit.

|1 3R 2 gt fAfea &

Both assumptions I and IT are implicit.

x

x

x

Q.34

Ik Y B
S[Em
o8&

8 9

Tty T v FE 7 S9e v AR STERT WS O TEE 9T S H@Ed, ar
g g

A=/t
N
"] I=1f=

7 [ 9

If three groups could be formed using the given figures only once, these groups would be

e, (147), (236) I (59.8)
©(14,7), (2,3.6) and (5.9,8)




x o (147), (2986) 3R (5,3,8)
(1,4,7), (2,9.6) and (5,3,8)

x o (147), (6386) #HR (2,9,9)
(1,4,7), (5.3.6) and (2.9.8)

5, 247), (138) #R (5,9,8)
(2,4.7), (1,3.6) and (5.9.8)

Q35 10 em 3R 6 cm RBA#AT I TF AT W WA GRAT A T FHAGEHS
T T formeT T FT 60° Bl FHEgsS F Amd  HenieT # fraer
g

A rectangle having 10 cm and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans x 1. 24\@
<283
< 31643
v 43243

Q.36 FTor THITATAUT HTF WFEIAT U8 WITAS FUNd (AFHH) HI Tgar Afgell
HETETT FiT B?

Who is the first female president of National Association of Software and Services
Companies (NASSCOM)?

Ans aferar AR
p N
Vanitha Narayanan
SEST By
3
Debjani Ghosh
. fastor AspHER o

~<
Kiran Mazumdar Shaw

AH%amraﬁﬁamﬂ

r s
Mallika Srinivasan




FH Fea-3Rpler T T L S & T8 WIT HTPhT H HWr G907 Afraa gl

Problem Figure A

C:/
Answer Figures

&) ci/4 é/c) q\j

A B C D
Select the Answer Figure that is the correct mirror image of the given Problem Figure.

Problem Fignre A

CV
Answer Figures

G| 4 e
SPArAES

B C D

A
Ans xlc
<2 A
< 3B

v 4D
—_— = o
Q.38 AR &I wE G FF W AT 1 AT Fw gHR wenfaw @i @2
‘What happens to the ammeter reading when the length of the wire is doubled?

Ans Xl%ﬂ#am%

It increases two times

v Ig Y @ ST B

It decreases to one half

| ¥ dm-sitg G ue S @
It decreases to three-fourth

, T€ T B

It remains the same

x

X

0¥ Frrmfafaa # & e #1g 5#1s J8 &2

Which of the following has NO unit?
Ans Helcd

1.
Density

arafées gdca
Relative density




x&ﬁEMH

Displacement
HE]

Pressure

X a4

Q.40 wHeUT # fow av fhe TEdl aur FEmaEt & T WE aiEfad e @
LHS = RHS g =me=m|

6x4+2=16

Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

6xX4+2=16

Ans 1 X F +, 2H 6 FA I
X with +, 2with 6

X F +, 4P 2 FA T
X with +, 4 with 2

s X T+, 16 I 6 FHTA T
X with+, 16 with6

v X F +, 4F6FHIT
X with+, 4withoé

< 2

M S E—
Q.41 e Oof HITT FT oEE FT T, Tk 977 & TAM H 740 gl dfe o
HEAT T & SIEA & O g, df T B T A Y o=y hoeAl 87

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If
the numerical value of the volume of the cube is equal to the numerical value of the area
of the square, then the length of one side of the square is:

Ans
meSaﬁ

108 units

xz_Sssa:ré

36 units

216 ST

216 unifs

288 TFS

288 units

v

> 4

Q.42 =T 2018 & 3o SAAHAT & HFAR g & Aar Teaarer ol T
f&ar T &7
Who is the newly appointed Governor of Bihar as of March 20187

Ans v HeT 9Tl Aol
Satya Pal Malik

2 FehoT ST
Kiran Bedi

x




; g FAR el
Devandra Kumar Joshi

X4_mﬁﬁmm;r
Ram Vilas Paswan

x

Q.43 W ©TF (Problem figure) @i €T arw =X f&@&edr (Answer figures) & frer
th & diedfed g1 Iarsv % 99 ofd (Problem figure) 3«7 I fawedl & @
et ot 55 21

Problem Figure

-5

Answer Figure

e

D

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

Problem Figure

-

ERIcs

Ans XlB
x2D
oA
vC

D

Q.44 T=fafT oot § ¥ #i9 W 57 TAA It T 3=
TS o 98 U] 3090 B I [ARISE TIaaT T@ar 87

Which of the following elements has the unique ability to form bonds with other atoms of
the same element giving rise to large molecules?

Ang TeORIaTH
F T

Aluminium

Q.45 TEarfey 7 3y & gw Iiaa=r & FRUT v aFg & ffgd =+ Far mar g

The energy possessed by a body due to its change in position or shape is called:
Ans

Chosen Option :1




GEEED
kinetic energy

xz_mﬁmﬁ

chemical energy

qTAT] A

<

X3

nuclear energy

| Tfas s

potential energy

v

O o AT HH A IO I N TAS H

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2, K6, N24,
Ans X 1.Q72
# 2.P120
< 3.Q720
v Q120

Q47 TF W emmEw frem i sk foiw wt & 5wt A faw #iw = A
fafea &7

T
o F TZE F FROT TG T AT WA W g% 3 7F AL g T ¥

HelHT:

1. BAT 9T g HEE O TgeA IMaRdT A gl
2. gaTs =R ¥ T FE =T AT AT g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

Ans xlsrr-fraagm?m;rzé’rﬁﬁ%?r%

Neither 1 nor 2 is implicit

_—— - a =T




FaeT A 2 Afga 7

2. Only assumption 2 is implicit
Faer A 1 RAfgT 7

) Only assumption 1 is implicit

| FeE 19 2 A e §

Both 1 and 2 are implicit

v

x

x

Q.48 Tamm T I TE ANEN # AfdE Oie T gl § T o @ T 33650
g

ar siirsy B & v aiffs 599 e &

Expenditure of Family

uFood ®House Rent W Entertainment m Child Education m Medical m Provident Fund

Expenditure of family- aTieni= @=r
Provident Fund- sifasar @fr

Food-
House Rent- & &1 famgram Entertainmen

Child Education- s==it % 9ar§ Medical- garsar

The chart represents the domestic expenditure of a family p
expenditure being T 33650 then the annual saving for provid;

Expenditure of Family

mFood M HouseRent M Entertainment m Child Education W Medical m Provident Fund

Ans X 1. T 4038
< 2. T 4083
X 3. T 48,465
W 2 T 43,456

Q49 v Fow H s IR FETHA F1 Hgua 3:2 71 F@ IuReAS @it B FA
AT fhdet g Tehdr 87

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members?

Ans X 1. 18




225
<316
< 424

Q.50 fara yefild wea-foF ) 3 Apfaat # & ol v & wicafea & odr
e A -

Problem Figure:

2

Answer Figure:
A B C D

Problem Figure - weeT fors

Answer Figures - 3ca¥ 34135%?1?

The following problem figure is embedded in one of the four answer figures. Choose the
correct figure containing the problem figure.

Problem Figure:

2

Answer Figure:
A B C D

Ans ?{'LA
v2C
< 3B
< 4D

g

R
&’
2
£

/

&
P

Q51

4

4
e
4




Sugar- R Wheat- 31§ Rice- =ITael Others- 3ed
fear = 9 WE Fo wwAr Hr ANF YgER F T F AT

ofg et $T YgEr 6000 = &, & Fo YeER = gl

The given pie chart represents the annual yield of

If the yield of sugar is 6000 tons, then the to
Ans X 1.30000
« 227000
# 324000
« 4 25000

Q.52 fadlr stefegy 7g #, fega F=i # ofafia =

In a hydro-electric power station ultimately which energy is conwv
energy?

& Mechanical energy
Rufas ==
Potential energy

| F5 T F=
Heat energy

RRUCE R~
Kinetic energy

r.

~<

v

Q53




aifear Ay St oF €}
w7 |9 |gfler |9d | afewe | sew
.
1 A 40 | 37 | 35 27
2 B 6 26 | 76 86
3 C 83 | 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans o 1. D
< 2B
XaC
K4 A

Q.54 == % Fea 7 30% $ 3 @ S &1 T B =Aoht Fr T Frcr gfaerd Fa FT &
R B TE o & S R A A

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

Ans #1231 0
13

& 222 9
B3
/< 3.23%

< 4.22%

Q.55 T% 160 HieT ol & 740 X o d oT @ 40.5 Hhs H IR A &1 & A
afS =Far &7

A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train?




Ans

. 80 fepciaeT ufd e
80 km/h

, 85 fehaiidter ufd e
85 km/h

x5 75 feheiafiex afd wer
75 km/h

. 70 fereitTey uf wer
70 km/h

X

Ans

Ans

Q.56 & 7% FFa W fmm i ¥t 97 F & & @ Turomdt F & Fi= @

A=A 2

gfFm:

2

T w ol sl e F R agd s R aga @
mwgm%,ﬂgm%mﬁﬁmﬁamﬁ#ﬁvzmm
T F T Fzar g1

TEYUROm:

N

1. TR FHAH HEGR B Feg AT TET
2. TR FAND HEGE  FT U E T T gl

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested, as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

Srarel GHUROT 2 FARiRE ¥
Only assumption 2 is implicit.
i Faa gaureT 1 dafafea g
Only assumption 1 is implicit.
1 3l 2 2 T s #
Both 1 and 2 are implicit.

A1 AR A & 2 safafed &)

Neither 1 nor 2 is implicit.

v

x

x

x

Q.57 fagai (- 5, 5) 3R (7, -3) =T [WN-TUS F IANF ¥ & 31 & 3Hgaa A

Trefaa =1 arr ﬁg F forden= T &2
The coordinates of the point that divides the line segment joining the points (- 5, 5) and

(7,—3) internally in the ratio 3 : 1 are given by:

X1(-2 3)
v (4, - 1)




X2, 0
Ka(1, 1)

Q%8 | FEr 2020 FT FlT T BT g2
What day would it be on 1%t March 2020?
Ans HHET

v s
Sunday

Q.59 =A@ smer &, Ted REat (?) & T W 3= T HeW

D,GK 2,V

In the following letter series, one letter is missing as sho
Select the missing letter from the given options.

D,G.K, 2V
Ans of 1 P
< 2R
<3l
<aM

Q.60 #Y FIAT 35 F &-faegs # T HE F 37 F -
T ggel T A 3H AY T A A S T =GN 99 &5 & 37
7 IS\ 37 4w 2

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is years.

Ans X 1.72
v 2 63
< 354
< 481

3l e
Crcedio|

Q.61 250 M 1 T e o Tee H AETE% @, R e F B s
TR T AT FEM:

The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:

Ans 125 9MH
F N
125¢
12.59MH
2

v 125¢g




50 MH
3.
50g
259mH
X a4
25g

x

Q.62 =iz & 3§ ¥AF 9& AT Tedl F AT ISEF ATl HET WROT H
safiera fBmr am

Newlands arranged the then known elements in his table of octaves.

ans X163
V2 56
X 258
X417

Q.63 f&w 7w Fod R TR # ik 97 W F TeaeoEg Fv= § § slaw s
T3 H 3o &l F oI TS gl

X &I &N g # Brder 5HT oRET?

YA
1. X At Y g v wry AR # 8 GE F = R €
2XF AR T = Y ¥ 5 u= o 30w v &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How long will X take to build the wall?

Statements:
1. X and Y together can build the wall in § days.
2. Xtakes 5 days more than Y to build the wall.

Ans 2(" 1.

f&T 9T 9o @1 Scal & F T 2 31kl 9ITeT g, Si|ieh 1 kel 9ACT FET
gl
2 alone is sufficient while 1 alone is not sufficient to answer the question.

v
T T WO FT FoaT & F AT 1 30FT TATT §, Tate 2 3Fher T Sar
zl

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 3
Rt ma s scar aa & AT arar 1 ar & 2 g g

Neither 1 nor 2 is sufficient to answer the question.
K a4
T 7T geF 1 3eX &= & fow 1 3k 2 g wireT #

Both 1 and 2 are sufficient to answer the question.

Q64 =& qaa g@en fw FgedT H faua &7
In which continent is the Andes Mountain range situated?

Ans Wq-
F N
Europe

X2 ”;

Australia




V- afgor 3@
South America
3RIRT

Africa

X 4

Q.65 wﬁgﬂmmmwmmm@atmww
foer$ #1 wRIR w9 & Wy e i T FErE F g 1w e
The base of a triangle is one-third of the base of a parallelogram having the same area as

that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans X'1.3:2
<24 ;1
<33:1
Vi1

Q-“ﬁmﬁﬁaﬁﬂﬁmﬁmaﬁfg #F =T O 3 g g

Which of the below fractions when added to g gives 37

Ans Xl. _l

2

2
K22
3

2
v 1=
11

4. 2=

2

Q.67 TIEY 2018 TF 3T FHNI & FFAR, HI5 Hr
FT AfF FiT &7
As of February 2018, who owns the Mumbai-based IPL team ‘M

Reliance Industries
5, TFE 3% =fEar
Times of India
X2 AT T
Amitabh Bachchan
x4 AMETT TTeT
Shah Rukh Khan

Q.68




faw 1T Joa=al T T A L Tl AT TF a9 F F FE (@) Feed
Ferdedt F & SFER F TREI §F § HTEOT (T B) F

TEFAS:
Tt FaAe AT 7 myfes R gid sueeyr § R o ama F o
g o 3 g

o

1. Rfecr dwfost & B soa & BT 39 =& o siv siwet
F T F F F F 0 F21 F=w mige
2. 99 e & ®H H & OT WER B A F AMgC]

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements.

Statements:

Though there is advanced medical facilities available nowadays, still child mortality in
India is high.

Conclusions:

1. Medical scientists should be asked to give up their job and work as doctors to save
lives.
2. The Government has to make efforts to decrease child mortality.

e 1 AR 2 e ST e g
Both 1 and 2 follow.

|1 3R 2 Q= Hegwor g R E
Neither 1nor 2 follows.

| A SRy 1 STET e €
| Only conclusion 1 follows.

Fael Ay 2 HFEI0T Har gl
4.

Only conclusion 2 follows.

x

v

Q.69 ABCS$+#DEF&=?GHII2*@ %A = I9aT HcT g, o = # fog s
ey

ASD Gl @
Using the sequence ABC$+#DEF&=?GHI!2*@, fill in the blank given in the following
expression.
AS$D Gl@
Ans o &
7
A=

X . F

Q70 [63 — (~3) (~2— 8~ 3)] = 3 {6+ (~2) (~1)} =2
[63 — (—3) {—2—8— 3}] = 3{6 + (—2) (~1)} =2
Ans 2("1,@
<23
VAN




< a2

Q7 T H ¥ i @ Oier Tl F Oes A6l 87
Which of the following solutions do not conduct electricity?
Ans WfEgs gEgeaEs e
p N

Sodium hydroxide solution

v = el

Glucose solution
X 3 vfafes vfas oo
Acetic acid solution

x4.§@a$ﬂﬂmuﬁ?a’l?~r

Hydrochloric acid solution

Q72 ‘Gl HieFw ST A R TE & dwE Fe 2
Who is the author of the book 'Lone Fox Dancing: My Autobiography’?
Ans v e ales
Ruskin Bond
| Houfy T
Arundhati Roy
o osT 2
Shobha De
, A ATraTer
V.S. Naipaul

x

x

Q.73 & T &, af SKYJACKING Fr AJYKSGNIKC forar =mer & o s 5 &

CHEAPJACKS &I & for@r smeem?

If in a certain code, SKYTACKING is written as ATYKSGNIKC, then how will
CHEAPJACKS be written as in the same code?

Ans o 1. PAEHCSKCAJ
« 2 PAAEHCSKCAJ
< 3 PAEHCCSKCAJ
< + PAEHCSKAJ

Q.74




A & E HERT e F BT FH G FE fhaer deh @t &

HATERTHAT gEi?
1 ] K
A L B
E|F
HM G
D C

‘What is the minimum number of straight lines required to construct the given figure?
1 ] K

A L B
E|F

HM G

Ans Jl. 17
<214
<318
<416

Q75 Frafgrged, W& 3R F@ H U7 = F@l W FT 872
Complete digestion of carbohydrates, proteins and fats takes pl

Ans JrEAeT H
<L
Oesophagus
~ 2 9 A
Stomach
. O s A
Small intestine
| s
Large intestine

x
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